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| 4th Month, 1st Week, 2nd Day | Unit # 5: Transformation of Energy. |

Q.No.1 Encircle the correct answers from the following choices. (6 x 1=26)
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(a)| Coal 1 [mloil Fl©)| Gas o7 @Al of these el
(ii) Which of the following is used to run a turbine in thermal power station?
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(a)| Coal 1 [mloil Fl©)|Gas o |(@)[steam LU
(iii) Which one of the following is not used to change water in steam?
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(a)|0il L )| Coal 29 |(0)|Gas o |@)|Paper  x¥
(iv) How much energy is used by world in a blink of an eye?
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(i) In thermal power, what is burnt?
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(i) In thermal power, what is burnt?

(2)[85,000 gallons of petrol J‘L'{ 85,000L s
(b)|86,000 gallons of petrol 5 86,000 s &
(¢)[84,000 gallons of petrol ‘j"{ 84,000L s &
(d)|82,000 gallons of petrol ‘j"{ 82,000L s &
(v) The world uses as much energy in 1 second, as we can use in a car in:
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(a)[150 yearsdlxlSO (b)|156 yearsdb«156 (©)|160 yearsdlxl60 (d)|146 yearsJV146

(vi) A windmill produces electricity from strong
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(a)|Flowing waterdy &z |(b)|Steam | (¢)|Wind lse|(d)|AlL of these L%
Q.No.2 Write the short answers. 2x2=4) -U‘.‘."J :JUY/:;
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(ii) How can we generate electricity from hydroelectric dam?
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(i) Define hydroelectricity.
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(i) Define hydroelectricity.



